Weekly Work 27.4.2020 – MATHS ANSWER SHEETS

SHM5 Number Revision:
1a) 2180
1b) 1980
2a) 6010
2b) 5506
2c) 2552
2d) 3390
2e) 10,000
2f) 4832
2g) 6023
2h) 9900
2i) 9750
2j) 2000
2k) 3950
2l) 8250
3a) Alan: 6940   Benjy: 6095
3b) Cara: 3600   Emma: 8050
3c) Faye: 9990   Daljit: 8000
4a) 3210 3220 3230 3240 3250
4b) 6480 6490 6500 6510 6520
4c) 8015 8005 7095 7085
5a) 2400 2300 2200
5b) 7906 8006 8106
5c) 9900 9800 9700





H6 Number revision:
1a) 49    1b) 99     1c) 67   1d) 87    1e) 79   1f) 77    1g) 47   1h) 99   1i) 60    1j) 100
2a) 26    2b) 23     2c) 71   2d) 11    2e) 37   2f) 41   2g) 20   2h) 33  2i) 14    2j) 55
3a) 48    3b) 77     3c) 22  3d) 49     3e) 21   3f) 64   3g) 16   3h) 45   3i) 73   3j)  27
3k) 98    3l) 99      3m) 19   3n) 54   3o) 82   3p) 85   3q) 64   3r) 6   3s) 93   3t) 100


SHM7 Number Revision:
1a)  6,000,000     and      56 
1b) 895,000    and      7
1c) 149,000     and      327
1d) 687,000,000   and    962,000
2a) 7 million
2b) Seventy thousand
2c) Seven hundred million
2d) Seven hundred thousand
2e) Seventy million
2f) Seven thousand
3a) 2,983,550
3b) 90,438,395
3c) 2,869,520
3d) 90,606,438
3e) 650,438,036








Stonelaw Exercise 3A:
a) 4     b) 18     c) 80    d) 160    e) 138    f) 154    g) 166   h) 24    i) 132

Exercise 3B:
a) 35ml   b) 34ml   c) 15ml   d) 325ml   e) 95ml

Exercise 3C:
1a) 240g   b) 75g   c) 80g   d) 340g
2a) 140ml   b) 80ml   c) 65kg   d) 550g

Exercise 4A:
1) 6+ 5 = 11
2) 6 – 2 = 4
3) 5 x 2 = 10
4) 6 ÷ 2 = 3

Exercise 4B:
1) 24 + 6 = 30
2) 24 – 6 = 18
3) 6 x 5 x 2 = 60
4) 24 ÷ 2 = 12

Exercise 4C:
1) 24 + 5 + 2 = 31
2) 9.2 – 6 = 3.2
3) 9.2 x 5 x 2 = 92
4) 4 2/3 ÷ 0 = 4.6






